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Target 2E: Remainder Theorem

Review of Prior Concepts
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Example: Divide f(x) = x3 4+ 3x — 4 by g(x) = x — 2 using synthetic division. Write the resulting
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Example: 1s(x—1)a linear factor of the polynomial 2x* +7x* =5x—4? If so, find the remaining
factors.
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Example: 1f you multiply (x +4) by a quadratic polynomial, then x° —2x> —40x — 64 is the result.
Determine the unknown quadratic polynomial.
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Example (Challenge): Find two factors of f(x) = 3x* — 2x3

— 9x% + 4 using the graphing calculator
and find the other factors using synthetic division.
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